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Anagram madness... 

            

am clue solution

POLCEKNS This is a percussion instrument ………………….. 
which has metal keys

A    A large brass instrument  …………………. 

A Often appears at the end of …………………. 
a piece of music 

N OMET  A long brass instrument  …………………. 

L RGETOT Lively but slower than Allegro …………………. 

E UQT A group of four instrumentalists …………………. 

S CAM   This percussion instrument  …………………. 
can be shaken 

P    A stringed instrument which has …………………. 
three sides

B TALIE  In Italian this word means  …………………. 
‘singing style’ 

FETATND In Italian this word means …………………. 
‘hurrying’

 

To complete this puzzle try and solve the following anagrams using the clues
provided.

A

     
   

   A large brass instrument  …………………. 

A       
   

     

    

    

    
   

   A stringed instrument which has …………………. 
t  

  In Italian this word means  …………………. 
‘   

    

 

            

Anagram

LGIEPOLCEKNS This is a percussion instrument ………………….. 
w    

ABUT    A large brass instrument  …………………. 

ACOD       
   

NOBROMET  A long b   

LALERGETOT Lively but slower than Allegro …………………. 

EARTUQT     

SARACAM   This percussion instrument  …………………. 
c    

PAHR    A stringed instrument which has …………………. 
t  

BANCTALIE  In Italian this word means  …………………. 
‘   

OFARFETATND In Italian this word means …………………. 
‘
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Part ree...
Note value equations

Ä t | tI tI t A | t A «A
Ä A | tI tJ tI tJ | t A A
Ä | t | A tI tJ t tI tJ |
Ä tI t A | tI | t «| | |
Ä t «t tI A | t | A | A
Ä | t t «t tI A t A | t
Ä A «A t tI A tI A t | |
Ä «t tJ tI tJ | tI A tI t |

               
              

              

 

...............  +............. --- ............ + ..............+ ............+ ......... --- ....... --- ........... + ....... --- ..... = .......

.......... + ......... + ............ + ................ + ............. --- ............... --- ........ --- ....... + ........ --- ..... = ......

............. + ......... --- ......... + ....... + ........... + ............. --- ......... --- ........ --- ............ --- ....... = .........

............ + ............. + ...... --- .......... + ............... + ......... --- .......... --- ..........+ ........... + ..... = .....

..............+ .............+ ............... + ....... --- ......... --- .............+ ............ +......... --- ........ --- ...... = .....
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.......... + ................ + ........... --- ............... + ....... --- ............ + ...... --- ......... --- ......... --- ..... = ......

First you need to complete the note value equations by adding or subtracting. When you have
your answers add them all together. Divide this total with the 'last note value equation
answer' and the final answer is the next clue to the combination of the safe.
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Answer:...........................................

Premium Puzzle BK 1 (complete)_Layout 1  06/11/2011  09:46  Page 1




